hydrogen atom: center-of-mass and relative

2-particle problem (electron & proton)
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hydrogen atom: spherical separation

relative motion
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spherical symmetry
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hydrogen atom: radial solution

ansatz (solve asymptotics)
u(p) = o w(p)e™

differential equation for L(s):
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recursion for coefficients ax+1 =

normalizability: recurrence must terminate at some finite k
n>1+1



radial functions uni(r) = r Rni(r)
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radial functions Rn(r)
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periodic table L




atom in spherical mean-field approximation

Fe : [Ar] 3d° 4s? 4p°
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